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QUESTION 1

The Find Matching Entities tool does NOT usually apply:

A. after importing data from different spreadsheets.

B. after charting data from different database sources.

C. after making changes to entities using Combined Properties.

D. after merging charts with similar data created by different chart creators.

Correct Answer: C

QUESTION 2

Which of the following is NOT a built-in dissemination tool?
A. Export to PDF

B. Save as spreadsheet

C. Send (as email attachment)

D. Save complete chart as picture

Correct Answer: B

QUESTION 3

Intelligence has arrived in a number of documents in the UK. A typical example is "Frank Wilson is using the following
accounts - 00000012345678, 00000098765432 and 00000071234432". An intelligence analyst has been tasked with
creating a chart so that questions such as the following can be answered:

-Who is using 3 or more accounts?

Which accounts are being used by 3 or more people?

Which accounts are being used by 3 or more people?

Which of the following chart structures would be able to answer this question using a search?
A.

Exhibit A

B.

Exhibit B
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C.
Exhibit C
D.
Exhibit D
£
Frank Wilson
(2 Account Number: ODDD001 2345E7E
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Frank Wilson
) Account Number; 0DO0D0D12345678, ODODDOGETE5432, DODODOT1234432
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Correct Answer: D

QUESTION 4

Once Analyst\\'s Notebook has identified possible matching entities, how are duplicates removed?
A. Manually change the identity of one entity to match the other entity

B. Select the matching entities and press Ctrl+D simultaneously

C. Select each of the matching entities and click the Link button.

D. Select each of the matching entities and click the Merge button.

Correct Answer: D

QUESTION 5

Intelligence has arrived in a number of documents in the UK. A typical example is "Zackary Armstrong is using the
following telephones numbers - 0123456789, 0987654321 and 0712344321". An intelligence analyst has been tasked
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with creating a chart so that questions such as the following can be answered:

-Who is using 3 or more phones?

Which phones are being used by 3 or more people?

Which of the following chart structures would be able to answer this question using a search?
A.

Exhibit A

B.

Exhibit B

C.

Exhibit C

D.

Exhibit D
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A

Zackary Armstrong
= 0123456785
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B 0123456789, 09B7654321, 0712344321
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0712344321 0937654321 0123456739
= Zackary Armstrong = Zackary Armstrong = Zackany Armstrong
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Correct Answer: C
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